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» state O if it rained both foday and yesterday, 0.7 0 03 0
= state 1 if it rained today but not yesterday, p_ (0% 0 050
0 04 0 0.6

» state 2 if it rained yesterday but not tfoday, 0 02 0 0.8

» state 3 if it did not rain either yesterday or today.
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» p=[010000000;
01/87/8000000;
002/86/800000;
0003/85/80000;
00004/84/8000;
000005/83/800;
0000006/82/80;
00000007/81/8;
00000000 1]

= (100000000 0]*pA9=
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:Classification of States o VI=Jl wwas
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0.3750 0.3958 0.2292

0.5000 0.3750 0.1250
Pl ) — P2 —
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» M.C.is notirreducible
» Class 1S1={0, 1}

» Class 2 S2= {3}

» Class 3 S3= {2}
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Symmetric random walk with reflecting
boundaries (ver. 1):
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Symmetric random walk (ver. 2):
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Examples:

= G
Recurrent @ Reourront Recurvent

: Classification of states given the transition probability graph. Start-
ing from state 1, the only accessible state is itselfl. and so | is a recurrent state.
States 1. 3, and 4 are accessible from 2. but 2 is not accessible fromn any of them.
so state 2 is transient. States 3 and 4 are accessible from each other. and they are
both recurrent.

wure 8.7. A Markov chain with one transient state %igure 88. A Markov chain with two transient s




Markov chains 9gS,le JowMw slsss

:decomposition
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Single recurrent class {1,2,3,4} Single recurrent class {1,2}
and one transient state

Once the state starts in a
recurrent class, it stays within
that class

absorbing

Two recurrent classes S1={1}, S2={4,5}
and one transient class {2,3}
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:Alice and probability class Jbw
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:2 Alice and probability class Jtw
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:3 Alice and probability class Jtw
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